UNIVERSITY OF CALGARY

DEPARTMENT OF MATHEMATICS AND STATISTICS
MATH 323 Quiz no.5 —- Sections T01,T02 y== April 10, 2007
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9 1. Let X have a Binominal distribution with n = 5 and p unknown. 34

Z? (a) Use the Neyman-Pearson lemma to find the most powerful test of the nall hypothesm
o : p = 1/2 against the alternative hypothesis Hy : p = 2/3 at level @ = 6/32.
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Z_, (b) Find the powe_r of the test of part (a) against the alternative p=2/3. /I?J 4; od H b ut%-W XZ‘]
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Pt 2. Let Xy, X5, .., Xn be a random sample from a Poisson distribution with unknown -
mea.n A > 0. Find the form of the level-a Likelihood Ratio Test of the null hypothesis

: A =1 against the composite alternative hypothesis Hy : A s 1. (Simplify the form of
the test statistic as much as possible.)
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